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Percent Word Problems- Worl

Janelle made a fruit cake using bananas and apples. Forty percent of
fruits are bananas. If she used a total of 120 fruits, how many apples.
should she use?

John just hired a new employee to work in your bakeshop. In one hour
the employee burned 150 chocolate chip cookies. If this represented 15%
of the day’s production, how many cookies did you plan on producing that
day?

The monthly budget for the front of the house is $51,000. You
of the budget on fresh flowers. How much did you spend on
flowers?

Your food costs are $2250. Your total food sales are $25,000. What
percent of your food sales do the food costs represent?

You have a large container of mustard oil. You have used 480 quarts of

it of the m How many quas

A serving of ice cream contains 6400 calories. 1600 calories come from
fat. What percent of the total calories come from fat?
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